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CDS 2 2024 G.S. MODEL QUESTION PAPER

Time: 120 min.

M.M.: 120

INSTRUCTION: Read questions carefully. For each wrong answer, one-third (0.33) of the marks assigned to that

question will be deducted. Each question contains (1) marks 7=/ @7 egrgdes gfav | 7 Teid Saaw & o, -7 77 37!

5 & b—IasTs (0.33) 3k HIS TIHN | GE T (1) b BT E

1.

Famous South Indian ‘The Battle of Takkolam’

was fought between? / 9Rig <feroT YRR “ATFbTe™

o gg' fas 9= a1 T oar?

(a) Between Chola and North Chalukyas / @ret iR

I AR B

(b) Between Chola and Rashtrakutas / et 3R

MRSt B A

g) Between Chola and Hoyasala / @et 3iR gra<rdt
Elg)

(d) Between Chola and Pandya/ =@rat iR uisa &

ElEc)

In the context of the history of India, consider the

following pairs: / ¥Rd & sfer & ded #

FrefaRad g R AR &

Term Description
L fag=or
Eripatti: Land, revenue from
Wi which was
set apart for the
maintenance of the
village tank
I, Iora o9 forg arerT w@n
T AT &1 EREMG Tfd BT e
Taniyurs: Villages donated to a single

SIRDRE Brahmin or a group of Brahmins
I UH BT & fear
SITETOT AT STEI0T BT g
Ghatikas: Colleges generally attached to the
i temples
Bl AR TR T IS 814 &
HfeRi

Which of the pairs given above is/are correctly
matched?/ $wR ey 77 = § § S A1/H FEY
gAferd & /87

(@ land2/1 3R 2

(b) 3only / &ad 3

(c)2and 3/2 3R 3

(dland3/1 3R 3

In ancient Indian Buddhist monasteries, a ceremony
called Pavarana used to be held. It was the : / ur<i=
ARG dig 761 H YR 9M$ U6 FARIE ST
fam SITem o | FE e -

(a) Occasion to elect the Sanghparinayaka and two
speakers one on Dhamma and the other on Vinaya/
HHURARIS 3R QT THRIT DI G+ BT JaR, Th
g9 IR IR TERT a7 W)

(b) Confession by monks of their off ences
committed during their stay in the monasteries

during the rainy season. / f¥eJeii §_T R & AH
% SRM Jal H B & SR Iy 7Y U TR &
BRI |

(c) Ceremony of initiation of new person into the
Buddhist Sangha in which the head is shaved and
when yellow robes are offered / 9§ " # v =fh
B et BT FARE OraH R gsaran Srdn € SR o
Uil 9% 31fid fhy oI &

(d) Gathering of Buddhist monks on the next day to
the full-moon day of Ashadha when they take up a
fi xed abode for the next four months of rainy
season./ ATYTe &I AT & 3Tl a1 dig Megeti &t
SHTEET BIAT B, 9d d 94T & STTel IR el &
forg ve ffRea foam v od 2

The famous battle of ‘Ten Kings’ as described in
the Rig Veda was fought on the bank of / %¥dg #
aitid ‘< ol @ uig s fhas dc W oS!
TS AP

(a) Parushni / gs=f

(b) Saraswati / aRwT

(c) Vipasa / faurar

(d) Asikni/ syt

Who among the following was a Brahmavadini
who composed some hymns of the Vedas? /
fforRad § 9 ®4 ggmane off {59 dai & o
WOl &I AT HY?

(a) Lopamudra / SirdmsT

(b) Gargi / Y

(c) Leelavati / <irerac

(d) Savitri/ &rfa=zit

With reference to the cultural history of India,
consider the following statements: /ARd & |D
e sfer @& do & fmfaRed dodl R faar
P

1. White marble was used in making Buland
Darwaza and Khankah at Fatehpur Sikri. /®cgyR
HBY 3 gofa SRATSN 3R WHHIE a9 § Aha
AR BT SUART o 137 o |

2. Red sandstone and marble were used in making
Bara Imambara and Rumi Darwaza at Lucknow./
TGS | T FAMETET iR WA TRATS 99 # ofTed
T TR AR AIHRAR BT SUIRT T 1T o7 |
Which of the statements given above is/are
correct?/ WX AU U ®El § | I AT/ W Aol
2/8°

(a) 1 Only/@ae 1

(b) 2 Only/@ad 2

(c) Both 1 and 2/1 3R 2 gHI




10.

(d) Neither 1 nor 2/9 @ 1 3R 9 & 2

Consider the following statements about
Rashtrakuta kings : RTgdre Iramisil & ar #
frfafed el W AR &

1) They were ardent patrons of Shaivism and did
not support other forms of religion. /a 39 eH &
B o |

2) They promoted only Sanskrit scholars and gave
them large grants. /S=eI9 &ad |A&pd fagHl &I
Ferar faar 3R S 9% 3rgeM |

Which of the statements given above is/are correct?
[FWR feu 0 HoEl § 9 B 91/ 98 8/ 8?

(@) 1 only /&ae 1

(b) 2 only /@ad 2

(c) Both1and 2 /1 3R 2 gFF

(d) Neither 1 nor2 /= @1 1 3R 7 &1 2

Which one of the following statements regarding
King Krishnadevaraya is NOT correct?/ IS &
OCaRT & dee H falRad § | @9 a1 dd
SEISER

(a) He was a great scholar of Telugu and Sanskrit
/a8 TFY AR FHa & A fAgH o

(b) Foreign travellers Domingo Paes visited his
court / fa<=l I SIFFTT U9 7 S9@ SRAR BT QKT
faar

(c) Barbosa praised him for the great justice and
equity prevalllng in his empire /eRaNT 7 9D
ATETT H yEferd A8 <R 3R FHHar & forg
IFD] Tl Bl

(d) He wrote his magnum opus Amuktamalyada in
Sanskrit/STei Ul HE AT AHThATCIGT AP
H fore

The Senia tradition is:/ AffaT TRURT 2

(a) Musical tradition that emerged from the colonial
army (Sena) /A fid wRuxT ST <Al | (39
RESL]

(b) Dance drama written by Keshab Chandra Sen
[@erg =g ¥ gR1 faRad I e

(c) Textile tradition of eastern UP /q&i UP @1 &uer
IRURT

(d) Musical tradition that invoked the name of
Tansen, the celebrated musician of Akbar’s
Court/Ffid IWaRT {9 3dheR & <XaR & g
e R AT & A &I rea fhar

Which of the following statement (s) is incorrect
with respect to Mughal Architecture? /giTet
IRgPel & Hag H EfaRad § 9 S a1 dod
TeAd B°

1. Mughal architecture reached its zenith under
Jahangir. /S8R & wIRITaTe H Giel AR AU
TR IR U s oAl |

2. Akbar mausoleum at Sikandara was built by his
grandson Shah Jahan. /RI%exT # TdHeaR BT AHa
D Ul YMESTl §IRT g=7ardT 77 oI |

3. Shalimar Garden in Kashmir was laid on the
order of Shah Jahan. /&e9R # TR TSA & g
IMESTal & 3y UR @l 7T oY |

Code: /@Ts:

11.

12.

13.

14.

15.

(@) Only 1/ a1

(b) 1and 2 /1 3fR 2

(c)2and3 /2 3R 3

(d) All are incorrect/3+! TeTd &

Keshab Chandra Sen/ &e1@ a5 |+

(i) Adopted a radical and comprehensive scheme of
social reforms./ AMAIRSTS GEIRT B T HifddRI AR
M AT STUATS TS |

(ii) Infused the concept of Bhakti into Brahmoism/
ARG B ATIRVT B gerars § Afier fmar

(iii) Influenced the socio-religious reformers in
Bombay and Madras/ &9 3fR AT H
AEISTh—eTHE GeRS! BT gwTfaa

(iv) Opposed the introduction of western education
in India./ ¥R # uferf fem &1 gReara BT faRg
fova |

Which one is correct-/ @19 T H& 28—

(@i, iii and iv/ i, iii 3R iv

(c)| i and iii/ i, i @i i

(d) All of them/ T =+

Which of the following organizations/persons did
not approve of the Quit India Movement?/
fr=faRaa § 9 5w et 9 9Rd Bis!
JATRTAT Bl AR T8l qI?

(a) B.R. Ambedkar/ §131R. rFIS@HR

(b) Hindu Mahasabha/ feg #&ra«r

(c) Muslim League/ gRerd o

(d) All of the above/ StRIH !

On the basis of which formula/plan Gandhiji, in
April 1944 proposed talks with Jinnah which
Jinnah refused to accept?/ 3¥iel 1944 H efioh =
foa Biel /AT @ MR W =11 & qrqard af
1R I I I R B S o I B 1 o e B ) R o £ |
(a) Rajaji formula/ ITTST HiFerT

(b) 3rd June Plan/ 3 S s

(c) August offer/ 3 uxdTd

(d) Wavel plan/ daet arsr=r

Who of the following founded the Independent
Labour Party In 19367/ f=ifeiRad # & fas 1936
# gfetse R urdt o) AT @1

(a) Jagjiban Ram/ Sirsited I

(b) Jayaprakash Narayan/ STIgeTeT AR

(c) Dr. B. R. Ambedkar/ Sf. €1.31R. ISR

(d) M. C. Rajah/ gs. ¥1. 1o

Who among the following played an important role
in the 5|gn|ng of the Gandhi Irwin pact?/ fFe=1ferRead
¥ ¥ foas el sfaq 9usiad R sRR a4 §
HE@yul qAHT FH1g?

(i) Motilal Nehru/ wrfierret 8%

(ii) Tej Bahadur Sapru/ <1 9815 |y

(iii) Madanmohan Malaviya./ #&rgd ATedg
(iv) Jayakar/ STaax

(v) Chintamani./ fiamfor

Select the correct answer from the codes given
below:-/ = faU U Ple & Wal IR Fri—

(a) ii and iii/ ii 3R iii

(b) ivand v/ iv3iR v




16.

17.

18.

19.

20.

21.

22.

(c)iandii/i 3Rii

(d) i and iv/ ii 3R iv

The British Government introduced the portfolio
system for the first time in/ f§feer IR =7 Tgell IR
GICHITTAT ToTTell &1 YA Dl

(a) 1861

(b) 1892

(c) 1853

(d) 1858

Which region in India provided the best quality
saltpeter and opium to the Europeans?/ 9Rd &1
DI AT & JRUR AR BT FATH T aTelm 2RT
3R DI IuART THRIAT AT?

(a) Bihar/ fagR

(b) Malabar/ d1eTTdR

(c) Coromandel/ &R

(d) Gujrat/ IoRTa

Who founded the Indian Reforms Association in
18707/ 1870 ¥ AR GUR AE Bl WA fBa
PI?

(a) Keshab Chandra Sen/ @3 dg ¥4

(b) Ishwar Chandra Vidyasagar/ $3a= @ig faemamr
(c) Ram Mohan Roy/ X HigsT I

(d) Debendranath Tagore/ ST SR

Which of the following is correctly paired/
f=foRaa § 9 @9 91 |98 Ifag &

(a) Establishment of an agricultural Research
Institution at Pusa - Lord Minto/ g&T1 3 U Sy
JITHET AR B WA — dls e

(b) Rowlatt Act - Lord Chelmsford/ eie gae —
qrS TRIhTS

(c) Antipartition and Swadeshi Movements -Lord
Lansdowne/ favrer faRiEl iRk wacelt srcieq —dfs
ESEISE]

(d) Factory Act of 1891-Lord Curzon/ 1891 &1
PREMT SMAFRA—ATS Hoi

Who made the 'Dipawali Declaration' and when/
<IaTgel Ty’ fhad iR &9 &l

(a) Gandhi 1930/ it 1930

(b) Subhas Bose in 1941/ 1941 ¥ g91¥ 919

(c) Lord Irwin in 1929/ 1929 # @ s=fa=

(d) Lord Linlithgow in 1940/ 1940 # <if$ ferferer
Who had used the concept of evapotran-spiration in
elimate classification?/ gferie aFffmvor #
qTTHRUT—TR BT AR BT STANT foosq= fopan
o7?

(a) Thornthwaite/ eif-erde

(b) Koppen/ @&1u=

(c) Kendrew/ &g,

(d) Austin Miller/ 3iiResT faer

Heat budget refers to/ €e asic &1 acdd &

(a) Solar radiation/ |k fafe=or

(b) Balance between incoming and out-going

radiations/ 31 aTel 3R dT8R S dret fafawon &
S

(c) Temperature distribution over the continents/
HETgIUl OR ATgH faaRom

23.

24,

25.

26.

(d) Heat distribution over land and sea/ 3f#1 ik
|G W T fAdRoT

Match List I with List Il and select the correct
answer form the codes given:/ &1 | &1 = 1
AT Y 3R fAT 1Y Hls A FE SR -

List | List-11
= | el
(Air mass type) (Symbol)
(@ S UDR) ERIED)

A. Arectic air mass I.T
ATbfeh aY G

B. Anlarctic air mass I.A
UATAThICh a1y ST

C. Equatorial air mass . AA
fAyadvdia a1y seaHT

D. Tropical air mass IV.E

IUThICIHT arg Tegd
Codes:/ ®Te:

A B C D
(@ () (@) (i) (iv)
(b) (i) (i)  (v) (D)
(c) (i) (v) (i) (i)
d (v) (@) @) (i)
Given below are two statements, one labeled as
Assertion (A) and the other labeled as Reason (R).
Select your answer from the codes given./ == &
H Q7 17 €, T BT <ar (A) B B9 H ddo fbar
T 8 IR G BT RO (R) & wY H olaa o
a1 2| fy MY Bre H ¥ AU IR A |
Assertion (A): The water droplets are found to be
high in the troposphere/aifi@es (A): Siet @ <
grHee H orfte uTg Sl €
Reason (R): The temperature variation in the
troposphere is not alarming compared to
stralosphere/&RoT (R): &irfHse # drga= fa=iar

@ g | fRiaeHe T8 ?

(a) Both (A) and (R) are true and (R) is correct
explanation of (A)./ Fi (A) 3R (MR) ¥ g iR
(R) (A) & &I WEIHRT T |
(b) Both (A) and (R) are true, but (R) is not correct
explanation of (A)./ <=1 (A) 3R (R)¥H &, offd
(R) (A) & &I TEHRIT Tal 2 |
() (A) is true but (R) is false/(A) W@ & wifd (R)
TAd &
(d) (A) is false but (R) is true/(A) T & oifde
(Rywa &
The winter position of subtropical jet stream
fluctuates between/ SUTwTRfese T oe & &I
el Rafd & 9 SIR—agE iar Y&dl &
(a) 20° and 35° N/20° 3R 35° SR
(b) 35° and 65° N/35° 3R 65° IR
(c) 5° and 20° N/5° 3R 20° IR
(d) 30° and 50° N/30° 3R 50° IR
Given below are two statements, one labeled as
Assertion (A) and the other labeled as Reason (R).
Select your answer from the codes givesn./ < a1
D 3y MU 2, Uh BT <rar (A) B ®U § odde




27.

28.

forar T 2 3R R B SR (R) & ©U # ofdd
forar T 21 fay U dre # & 30T SR G |
Assertion (A): Stable atmospheric condition
prevails when environmental lapserate is less than
dry and wet adiabatic lapse rates./ 3% & (A):
Rer argAsea Refd @@ o+ &l & o/ wafarofi
TRINE & IR el UReAfesd o &) | &4 Bl
2|

Reason (R): The parcel of air is warmer than the
surronnding environment at all the levels as it
ascends./ BRI (R): &A1 &1 IR $HWR dg1 TR T
TR TR 3MAURT & ATTaRYT &l Form H TH Bl 2 |
(a) Both (A) and (R) are true and (R) is the correct
expiaration of (A)./ TFi (A) 3R (R) ¥ g 3R
(R) (A) &1 F& 9997 7 |

(b) Both (A) and (R) are truc, but (R) is not the
correct explanation of (A)./ G=i (A) 3R (R) 94
g, dfd (R) (A) &1 FE IR F&1 2 |

() (A) is true but (R) is false/ (A) ¥ g fd (R)
TAd ©

(d) (A) is false but (R) is true/(A) e & ifd=
(R) ¥ 2

The mature stage of thunderstorm is characterized
by/ q®T @1 URYad sr@awer &1 faRyar &

(a) Strong updrafts and downdrafts/ FSTdd 3TgTHS
IR TRAZIE

(b) Lack of electrical charges/ fagja amaii @1 &1
(c) End of precipitation/ agt &7 3fd

(d) Lack of ice crystals/ 9% & fiheca @t &I
Match List I with List Il and select the correct
answer using codes given./ &1 | &1 =1 11 &
Faferd & iR fAU MY HIe & STNT oxa el

IR G |
List-1 List-11
Gl = 1

A. Katabatic wind (i) Warm dry winds
moving down the east
slopes of Rockies

ot & gdi ol o A
Bl AR T dqTell T b
EEINY

(ii) Warm dry winds in
southem California

<feroft dfermifar # 7+
NEIREIY

(iii) Cold air situated
over highland area set in
motion

ST &3 & SR Rerd
TSI BT AN &

(iv) Warm dry winds
moving down the east
slopes of alps

A B Ydi sl F A
DI IR T arell TH Yh
EEIN

Prerdfed gaq

B. Chinooks

g

C. Santa ana

AT T

D. Fohn

BIEd

Codes:/ @Te:
A B C D

@ @ @) (i) ()

29.

30.

31.

32.

(b) (iii) ) (i) (iv)

(© () (i) (iv) (i)

(d) (v) (i) (i) (i)

The idealized global patterm of surface wind from
the Equator to pole is/ ¥[fed ¥&1 & ga d& Ads!
gae oT e dfg® fe ®

(a) Doldrums, trade winds, westerlies, easterlies./
I, ARG g9V, UGN gy, Ydi 8dmy

(b) Doldrums, westerlies, trade winds, easterlies/
ISTl, UGN BaN, @MUIRG gal, gdi gaTg

(c) Doldrums, easterlies, trade winds, westerlies/
Sarl, qdl BaN, ATRS BaTY, TGN Ba

(d) Doldrums, trade winds, easterlies, westerlies/
S, @RS ga1, Ydi gard, UgaT gard

The marine influence upon climate results into/
TR IR LT YT BT YR BT §

(a) Increase in annual rainfall/ arf¥e aut # gfg

(b) Increase in aridity/ =paT % gfg

(c) Increase in annual temperature range/ arf¥e
[S14oEs 155 121 M | =4

(d) Decrease in annual temperature range/ arf¥®
AT A H B

Given below are two statemetns, one labeled as
Assertion (A) and the other labeled as Reason (R)
Select your answer from the codes given,/ == &1
B 3y MU ¥, UP BT qrar (A) B B H wddd
far a7 g IR R B BRI (R) & w9 H ofdd
e = & | fAU 7Q ®re | U1 IR FH,
Assertion (A): Ozone layer protects the Earth from
excessive quantities of severely changing solar
radiation./ gTar (A): SIF URd gl BT TR wU A
geord AR fafeRor o) srcafds AEm | gard 2
Reason (R): Ozone hole has been discovered over
the continent of Antarctica/&Rur (R): 3feTdhica]
TETgIY WX 3G g @1 @t @ T8 8

() Both (A) and (R) are correct and (R) explains
(A)/ 3 (A) 3R (R) @& & iR (R) 9ard 2 (A)
(b) Both (A) and (R) are correct but (R) does not
explain (A)/ =i (A) IR (R) 98! € oifdd (R) (A)
DI IR T HIAT ©

() (A) is correct but (R) is wrong/(A) &Y € <ifd
(R) et &

(d) (A) is wrong but (R) is correct/(A) Tad &
fe (R) 981 @

Given below are two statements, one labeled as
Assertaion (A) and the other labeled as Reason (R).
Select your answer from the codes given./ == &
F AU U €, UH & MU (T) & ®U H g
foar 37 8 IR SR B BRI (3MR) & I H oldd
fpar a1 7| fAu ¢ Pre H | U IR |
Assertion (A): Continental tropical air masses are
dry and hot/e1ifadee (A): FETEINE SWIGiedd
TR g5 iR T B €

Reason (R): Continetnal tropical air masse are not
localized/®RuT (R): HeTEIU SWIbfeaEy a1y
S ARG T8t

() Both (A) and (R) are correct and (R) explains
(A)/ 3H (A) iR (R) @& § iR (R) 9ad 2 (A)




33.

34.

35.

36.

37.

38.

(b) Both (A) and (R) are correct but (R) does not
explain (A)/ =1 (A) =R (R) & € <fd (R) (A)
DI IR TE AT ©

(c) (A) is correct but (R) is wrong/(A) & & offde
(R) 7Tera @

(d) (A) is wrong but (R) is correct/(A) Terd @
dfe (R) 98T ©

Which one of the following is not a greenhonse
gas?/ fr=foRad § & o9 0 Aer 9 T8 27
(a) Nitrogen/TsgIor

(b) Carbon dioxide/@Ted Srg:iiaTsS

(c) Methane/#i2=

(d) Chlorofluorocarbon/aaRIgaARTEHTE

In which of the following weather con-ditions does
the negative lapse rate of temperature operate?/
fr=foRaa & 9 foa dw @ Rafa & dgae &
THRIHAS 9 T ATl il 57

(a) Surface inversion of temperature/aradr= 1
HS! GhHT

(b) Adiabatic change of temperature/drqar #
G gRaddT

(c) Isothernal change of temperature/araHT= &1
[HATI uRRad+

(d) Advectional inversion of temperature/drqaTT &l
HIgIcHD GhHUT

Seasonal contrasts are maximum is/ARFT faRremTT
arferpas ®

(a) Low latitudes/fr=1 afetrer

(b) Mid-latitudes/#ea 3fefrer

(c) High latitudes/S=za ietrer

(d) Subtropics/Sur™ramfessda

The polar front is associated with/gdr ardrr &1
eI

(a) Origin of tropical cyclones/Swrafesdia argrardt
BT IR

(b) Origin of wind belts/ua= ufei @1 Icafr

(c) Origin of temperate cyclones/fiarsT @grardl &t
I

(d) Origin of lomadoes/@MTSIST @I I

Global pattern of surface temperature is generally
controlled by/¥dg & AmaEE & df¥ad Ue mAdR
R fhas grr e fear smar 22

(a) Lalitude, longitude and altitude/ @ferear, <erax
3R ag

(b) Lalitude, longitude and continent-ocean
contrast/ Sferadr, <R R ARTEII—HERINR
[ERICIEIR

(c) Continent-ocean contrast, longitude and
altitude/T8TEU—HeTR faRIEmI™, <9MaR 3R $HaTs
(d) Continent-ocean contrast latitude and
altitude/RTEIT—F 8RR fauRId el ik SHarg
The criteria used by thomthwaite in his
classification of world climates are/ eif#erde gRT
faeg STerarg & iRl # W AMGS ©

1. Precipitation effectiveness/ asf wwraeiierar

2. Thermal efficiency/amdra <eran

3. Potential evapotranspiration/d¥rfad

BRI IHoT

39.

40.

41.

42.

43.

4. Radiation efficiency/fafd=or gerar

Select your answer from the codes given./ fdg g
B H A MU IR |

(@) 1,2and 4/1, 2 3R 4

(b) 1,2 and 3/1, 2 3R 3

(c) 1,3 and 4/1, 3 3k 4

(d) 2,3 and 4/2, 3 3R 4

The Earth’s average albrdo is estimated as/ g1 &1
3 STesel ITAT ®

(a) 32 percent/32 wfcrera

(b) 40 percent/40 gfcera

(c) 21 percent/21 wfcera

(d) 50 percent/s0 Hfcrere

Which of the following types of clouds occupy the
lowest layer?/ fr=faRad & & fod ToR @& 9ea
AT el I”Rd W & §7

(a) Stratus/ ¥esd

(b) Cumulus/ag=aers

(c) Cumulonimbus/&Fatifres
(d) Cirrus/R==

A cyclist travels with a speed of 30 km/h in first 20
minutes and with the speed of 40 km/h in the next
15 minutes. The average speed of the cyclist is/ T&
arsfha gt uget 20 fie # 30 km/h @ Tfar |
3R 3rTel 15 fise # 40 km/h @ 1fT | 131 HRAT
g wrsfrer ara® @ siad Wi far 27

(a) == km/hr

(b) 22 km /hr

() == km/hr

(d) None

An electric bulb is rated as 220 V and 80 W. When
it is operated on 110 V, the power rating would
be/ts fagd dea 220 V 3k 80 W & w7 4 feifd
2 o9 39 110 V W y=ferd foar srar 8, o1 wife
iR @1 g

(@) 80 W

(b) 60 W

(c)40W

(d)20wW

Three blocks of mass 3 kg, 2 kg, and 1 kg
respectively are placed in contact with each other
on a smooth horizontal surface as shown in the
figure. A horizontal force of 18 N is applied on the
3 kg block. Find the net force on the 2 kg block/=
fau U o3 & R 3 kg, 2 kg 3R 1 kg s
el A I[eDl BT IRER WS H U Afasl e
{ag R @ T & 3kg At gedb R 18 N F1 U
&S a1 ST S © | 2 kg d@rel P WR e
qrel gRUT gt & A1F 98T |

——=|3ke

[

=
]
—
=
]

(@) 18 N
(b)6 N
(c)9N
(dON




44,

45,

46.

47.

48.

Double-convex lens are to be manufactured from a
glass of refractive index 1.55, with both faces of the
same radius of curvature. Find the radius of
curvature required if the focal length is to be 30
cm?/ TER —S<R oG BT Il P FHIE AT & o
q@i & A1 U d LADBID 155 dTel U dbid 4
AR ST 2 | Afe wed & 30 cm B 8, A
JMATYDH bl bl 3T ST BT |

(a) 22 cm

(b) 33 cm 49.

(c) 44 cm

(d) 55 cm

A person is using lenses of power +2 D in his
spectacles for both his eyes. It means person is
suffering from/@1E =afdd srow = ed g1 =1 &
foTg +2 D &\aT & oIl BT SUANT BR & B | $HBT
I8 ded € & 98 aafad—

(a) Myopia and the focal length of the lenses used
is 50 cm/ATEET IR UG < @I Blddl @dls 50

I ' 50.

(b) Myopia and the focal length of the lenses used
is 5.0 M/ARITAT 3R Wh ¥ BT Bidel oddls 5.0
AR 7

(c) Hypermetropia and the focal length of the
lenses used is 5.0 M/BTETRASIAT 3R UIH o Bl
B 918 5.0 Hex &

(d) Hypermetropia and the focal length of the

lenses used is 50 cm./ BEURHSIUAT IR WIh oid
P Bl odTS 50 I B |

An electron enters a uniform magnetic field at right 51

angles to it as shown. The direction of force acting
on the electron is (consider the plane of the page to
be horizontal)/ T& $eidg[ T A Jaaid &3 H
FHDIVT TR I HAT & ol o @ .= g |
ZdgH W & Tl 9 @l e 8 (U8 & ad &l
afirst Ar)

Magnetic Field

Electron

(a) Vertically upward/ Jigaa SR &I 3R
(b) Vertically downward/ igad =ra @ 3R
(c) To the right/ <€ 3R

(d) To the left/ @18 3R

A particle on the earth's surface is given a velocity 53.

equal to its escape velocity. Its total mechanical
energy will be./ gedt @1 |d8 W U& BT B D
AR I & aRER 9T far S | s9a) g
i3 FHott BhM.

(a) Negative/THRIHSD

(b) Positive/ThRIcAD

(c) Zerolg@ 54

(d) Infinite/ara

A current of 5 A flows through an electrical
appliance when the potential difference of 50 V is
applied across its terminals. What will be the
current drawn by the appliance if the potential

52.

difference is increased to 110 V?/ f¥t fagga
SUBRYT & Al TR 50 A BT AR AR &R
R IFH 5 A IRT JaIEd B8Rl & | Afe favariR 110
V @& 991 fear Sy a1 SUSBR gRT Wikl T8 &7
T BRI

@25A

(b)5A

() 11 A

(d)10 A

The escape velocity on Earth is 11.2 kms~1. What
would be the escape velocity on a planet whose
mass is 1000 times and whose radius is 10 times
that of the earth?/ gedl o= eras a7 11.2 kms ™!
2| 99 U8 W U I RIT BN RTadT S+ =
1000 AT & 3HR el FZroar gedt | 10 AT 27
(@) 112 kms™?!

(b) 11.2 kms™1

(c) 1.2 kms™t

(d) 3.7 kms™?

Find the power (in W) of a pump if it can lift 1 tone
of water by 90 m in 30 minutes. (Assume 100%
efficiency and use g = 10 m/s?)/ & uu &I wRp
(W #) =ira @ifsg afe a8 30 f9e 9 1 e 9 90
HIex a% SoT Fahdl & | (100: QeI A iR

g = 10m/s? &1 U &)

(@) 50

(b) 250

(c) 25

(d) 500

Melanin is the natural pigment that gives colour to
human skin, hair and the iris. It provides protection
against:/ #eiffF WTgfad Fead © S A @@, 9T
3R URATR®T ST T T B | T8 §T GR&TT Y&
BT &

(a) Ultraviolet radiation/o=re = fafe=or

(b) Infrared radiation/s=ps fafdzor

(c) X-ray radiation/ Taa— fafa=or

(d) Short wave radio radiation/ <rg o= <f$ar
fafdor

The term ‘ Probiotic’ is applied:/ ‘HERICH e
BT WA fhar S &

(a) Organic food/ Sifae® Hre=

(b) Antacid/ gerRrs

(c) Antibiotic/ geramafe®

(d) Live microbial food supplement/ cirga
qISHITII he A

Which one of the following vitamins is synthesized
in our own skin?/ fFr=1feRaa & & @9 1 faerf®
TANY AT § A3y grar 87

(a) Vitamin A/ faerf® = A

(b) Vitamin B/ faeif#= B

(c) Vitamin C/ fderff= C

(d) Vitamin D faerff= D

Formation of thrombus in heart can lead to/ gga1 #
AT 1 fAmfor 81 Adhdr 2

(a) Heart burning/ f&& St

(b) Heart attack/ feet @1 g1




55.

56.

57.

58.

59.

60.

61.

62.

(c) Heart blockage/ gsa # J&ac

(d) Heart failure/ faat @1 fawerar 63.

Hormone production is a function related to/ =
JcaTe Fefd wrd ®

(a) Hypothalamus/ gTgurger

(b) pons/ di|

(c) hippocampus/ fEwrdwd

(d) medulla/ wssir

Which one of the following disease is not caused
by virus?/ fF=ifaRad # & &9 A1 AT IRRE ©
PR TSI BT 87

(a) Chicken pox/ fare=1 dfe

(b) Measles/ @axT

(c) Poliomyelitis/ Tiferarsesfes

(d) Tetanus/ ce=s

Which of the following are the possible blood
groups of the parents with blood group O and AB?/
h g O 3R AB drel A1d1—{Uar & |WIdd b
T frefafed # 9 @19 9 87

(@) O, A,Band AB/ O, A, B 3k AB

(o) Aand B/ A 3R B

(c) A, Band AB/ A, B3R AB

(d) Oand AB/ O 3R AB

Biological catalysts in living organisms is known
as?/ Sfaa Shal # Sfdw SSRS BT Hel AT 27
(a) Hormones/ g+

(b) Vitamins/ faerff=

(c) Steroids/ =Xfgs

(d) Enzymes/ gsiigq

Which among the following is the hardest part of 65.

our body?/ f=feIRad | B9 AT 89X INR BT
HIRT B3R AT 872

(@) Skull bones of head/ R @1 WS &1 &gt
(b) Thumb nails/ 3 & RIA

(c) Enamel of teeth/ gfai &1 g Ha

(d) Spinal vertebra/ g @1 gSI

What is ‘breakbone fever’ most commonly known
as?/ gl Ale R’ Bl AW AR W fE 9 | ST
ST 57

(a) Typhoid/ crswTgs

(b) Rhinitis/ Irg=rsfes

(c) Yellow fever/ drem g@rR

(d) Dengue/ ST 66.

Which one among the following are the correct
symbols for the elements gold, tin and lead,
respectively?/ f=falRaa # & &9 A1 S A,
fe= sk < deal & forg wEl udte 87

(@) Ga,Sb, Pb

(b) At,Sn, Le

(c) Au, Sn, Pb

(d) Au, Sb, Pb

How much percentage of carbon dioxide is present
in the atmosphere of Venus and Mars?/ g% 3R
HTS U8 B qrgHsel H fdba- ufaerd e
SrgaifaaTge HIgE 87

(@) 45 —47%

(b) 52 — 55%

©) 74 -=77%

(d) 95 —97%

During white-washing of walls, slaked lime reacts
slowly with carbon dioxide in air to form a thin
layer of calcium carbonate on the walls. Which of
the following reactions represents this correctly?/
SR BT Whal B FH, g 83T AT 8al H Hra
grssifarse & A1 - ufafshar ova aRi o
BfIRM PIEE B Udh Udell XA 41 <l 2 |
frfafed # 9 @ @ ufafhar e w8
gfafafee e 87

(@) CaO(s) + CO,(g) = CaC0O3(s)

(b) Ca0(l) + CO,(g) —» CaCO5(s)

(c) Ca(OH), (1) + CO,(1) = CaCO5(s) + H,0(D)
(d) Ca(OH)(aq) + CO;(g) = CaCO3(s) +
H,0(D)

Which of the following statements is correct about
diamond and graphite?/ R iR IwET & IR H
forfalRad # 9 @19 A1 HUF W8 87

(a) Diamond and graphite have similar physical and
chemical properties./ R iR Iwse @& Hifad IR
R 07T FH E |

(b) Diamond is hard but graphite is smooth and
slippery./ RT @oR BIAT © offd dwIge f&a iR
el WRT BT 7 |

(c) Diamond and graphite are both non-conductors
of electricity./ ERT 3R Uwrse M fAgd & HATSD
g

(d) Both diamond and graphite have

similar structures./ ERT iR IHIST AT BT HLAAT
TAE B

Which one of the following statements regarding
acids is not correct?/ a7t @ Wy H fHfaRad # |
DI A AT Fel Aol o7

(a) Hydrochloric acid is present in the gastric juice
secreted by the stomach./ ue & wfaa iRg® S
ETggIddRG YRS Aig &I 2 |

(b) Acetic acid is the main constituent of vinegar./
wRifes wfie RR® &1 7@ g 2|

(c) Oxalic acid is found in tamarind paste./ S#ell &
e # ffqrfers RIS urm ST € |

(d) Lemon and orange juices contain citric acid and
ascorbic acid respectively/ g iR Fx & 39 #
HIL: WIEfed TS ok Uwpifdd TS BT ©
Which of the following statements with regard to
heating of lead nitrate powder over a flame are
correct?/ &l IR oS AISeC UTSSX BT TH &R B
eaer # fA=ferRad § & a9 A1 Ud A8 87

1. Brown fumes of NO are released./ NO &1 X1
gaT ferarerdm 2 |

2. Colourless 0,gas is released./ &M 0,39
fperc 21

3. It is an example of oxidation reaction./ Tg
SiTaRATRROT AFATHAT BT ITERT B |

4. It is an example of thermal decomposition used
for the production of NO, gas./ I8N0, 3 &
IATE @ oIy IUART fy ST arel el 3fgecHd &l
U&H ST 2 |




67.

68.

69.

70.

71.

72.

Select the correct answer using the code given
below./ & fAU T Bl T ISTART HRD el IR
T |

(@ land2/1 3R 2

(b)2,3and 4/ 2, 3 3R 4

(c)1,3and 4/ 1, 3 3R 4

(d) 2 and 4 only/ &aa 2 3iR 4

What is the chemical composition of a soda-acid
type fire extinguisher?/ Sre—tRrs ToR &

RS IF B RIS AT T 27 73.

(a) Solution of sodium hydrogen carbonate and
sulfuric acid/AfETH BTgSIoT BT 3R ARIRD
RIS &1 FHEE

(b) Solution of sodium carbonate and sulfuric
acid/HfeTA HEMe iR ArIRE YRTS BT FHREIT
(c) Solution of carbon dioxide and sulfuric acid /
BT SSIITARASS AR RIS RIS & FAATH
(d) Solution of sodium chloride and sulfuric acid
[T FARTSS 3R RS RIS & FHEH

A solution contains 20 g of solute in 180 g of
solvent. If the solvent is water, what is the

concentration of the solution in terms of mass by 74.

mass percentage?/ T& €l # 180 T fdeirad # 20
I faor grar 71 afe fiemes o 8, aF s
gfrerd & Ay H e @ Aigdr | 87

(a) 11.1%

(b) 22.2%

(c) 10%

(d) 20%

Find the Equivalent weight of Al,(50,); if its 75.

molecular mass is M./ afc Al,(S0,); &1 3Mvifds
SIAM M § @ $HdI gl R ST BITTY |

(a) M/3

(b) M/2

(c) M/5

(d) M/6

Which one of the following is NOT a synthetic
detergent?/ fF=ifaiRaa # & @19 o1 Ridfes feesic

&l 87 76.

(@) CH5(CH,)1oCH,0S03"Na*

(b) [CH3(CH2)15 — N — (CH3)3]*Br~

(c) CH5(CH,)14 COO~Na*

(d) CH3(CH,)15C00(CH,CH,0),,CH,CH,0H
Which country has initiated the process of
investing $2 billion in food parks in India?/ f&= <=

9 9RT H ws Ui H 2 fIfer Sfer & e & 77

AT H BT 8?

(a) Netherland/=ezels

(b) Mauritius/9rrer

(c) USE/SHarT

(d) Singapore/ RHITgR

The Gujarat government will introduce a submarine
service for tourists in the state, to help them explore
the marine life in Dwarka, an ancient city believed
to be lost under the sea. For this project Gujarat

government has signed MoU with which 78.

company?/ [oRId WRGR I8 H qiehl & ol 1
gl HaT P& H, R I gRaT H T
S &1 9T o # A fHerfl, ve ardi= oeR o

s @ A @I AET S © | 39 aRAs &
foU ToRT WRER 71 fd SU & |1 FHeiar
U TR R fhy 87
(a) Mazagon Dock Shipbuilders/qsria €

>
(b) Hindustan Shipyard/fggwim Rroars
(c) ABG Shipyard/wdisit fRroars
(d) Garden Reach Shipbuilders & Engineers/ /e
g Rufdeed ve soiifad
Defence Secretary, Giridhar Aramane has
inaugurated a new design and test facility at Aero
Engine Research and Development Centre
(AERDC) of Hindustan Aeronautics Limited
(HAL) in which city?/ zemm wfera, fifRer sRA™ 3
foa weR A figw wRAifea forfice (HAL) &
TR 399 RAd U Saaudie Hex (AERDC) # t&
3 fETImE iR wdteror gfaen &1 IgETeA fFHar 772
(a) Bengaluru/ s
(b) Hyderabad/ge=maTg
(c) Chennai / ==T8
(d) Greater Noida/3rex Arger
Hardeep Singh Puri has inaugurated the National
Street Food Festival 2023 in which city?/ &< Rig
9 A 5 R H A Eie B BRedd 2023 &
Igared fear g2
(a) Bengaluru/sirege
(b) New Delhi/=s faeet
(c) Chennai/a=g
(d) Greater Noida / ¥rex AIgeT
What is the revised return on the Sukanya
Samriddhi Account Scheme (SSAS) for the first
quarter of 20247/ 2024 &1 Ugel oA & forg
GHAT Tl @1 Ao (SSAS) wR weierd Red
w7 2?
(@) 7.2%
(b) 8.2%
(c) 6.9%
(d) 7.7%
Who has been appointed as Chairman of the 16th
Finance Commission?/ 16d fa< 3MANT &7 3redet
foa fges foram Tar 27
(a) Ritvik Ranjanam Pandey/zfcads 594 uis
(b) Arvind Panagariya/srfdg g=tiear
(c) NK Singh/ta g
(d) B.V.R. Subrahmanyam/«1.d1.3mR. gaarogd
Which edition of the Joint Military Exercise Desert
Cyclone, between India & UAE, will be conducted
from 02 Jan to 15 Jan 2024 in Rajasthan?/ wRd 3R
HYH 3R AR & drag WYeh AT 3T Sulc
ATgdelT BT HIF AT FEBRIT 02 S I 15 SN
2024 TP ITSIRA # AT far Sgm?
(a) 1st
(b) 2nd
(c) 3rd
(d) 4th
In January 2024, The Indian Space Research
Organization (ISRO) has launched X-ray
Polarimeter Satellite (XPoSat) from the Satish
Dhawan Space Centre in Sriharikota./ S=aRl 2024




79.

80.

81.

82.

83.

H, IR SfaRer srgde™ Hwed (ISRO) = 84.

sER®IeT & AT ga4 faRe g F——————— X
— UraRHeR dAcarge (XPoSat) @ fhar 2 |

(a) C54

(b) C55

(c) C58

(d) Ce0

Recently, which country has officially declined the
invitation to join the BRICS (Brazil, Russia, India,
China, South Africa) grouping of major emerging
economies?/ BTt €1 H, fhd < 7 T IURA!
JFfaRRITS & |E (e (FToile, w9, 9Rd, 9,
TIEroT 3rmidT) # wnfiel B9 @ EAT Bl SnfdiRE
R R srdieR ax faar 87

(a) Argentina/ sTsiErT 85.

(b) Ethiopia/ sferfar

(c) Saudi Arabia/ ¥3dl 3”9

(d) Egypt/ far

Rajnath Singh has inaugurated its first all-girls
Sainik School in which city of Uttar Pradesh?/
o g 9 SR USY @ fhd weR H e ugd

ool s T &1 SqaTed fehar 87 86.

(a) Ayodhya/ e

(b) Varanasi/ aRrorir

(c) Kanpur/ &g

(d) Vrindavan/ g=ra<d

Which company has become the first Indian
company to receive International Sustainability and
Carbon Certification (ISCC)-Plus?/ &9 1 U=t
IR R iR B w79 (ISCC)—rs et
P qTell Ugell HRARI BUl a1 T8 87

(a) Reliance Industries Limited/Remaa gewgiol

fafics 87.

(b) Larsen & Toubro (L&T)/ & G Tl (L&T)
(c) Hindustan Aeronautics Limited/ f&g&=
RRACH s

(d) Tata Advanced Systems/cTeT TsaiRs Riverd
Which company will invest 211 crore ($ 25.712
million) over a five-year period for exploration
stage activities of five lithium blocks in Fiambala
area of Argentina?/ @19 1 HU= SIS &
farTer &= # uia forfds sdfdl &1 =avor a_oT
wfafafrl & fog ufa arer @t safy # 211 RIS

(+25.712 faferas) @1 faer &wfi? 88.

(a) Adani Group/sTaT=t {9z

(b) Tata Group/eTer |98

() Reliance Industries Limited/Remi se&<T
forfics

(d) Khanij Bidesh India Ltd/@frsr fager sfsan
fofics

Which country has taken over the chairmanship of 89.

BRICS for 20242/ 6 <91 =¥ 2024 & forg o o)
SFEETT FHTeAT 87

(a) Saudi Arabia/d%al 3Rq

(b) China/=

(¢) Russia/va

(d) India/=a

The Union Cabinet has approved the signing of
MoU between India and the United States Agency
for International Development (USAID/India) to
support Indian Railways in achieving ‘net zero
carbon emission’ by which year?/ &g df3Hsa =
frd af 9% ‘g I IO SO T HA H
ARARI YAd BT G B & oy MRA 3R JARCS
e Toidl BR §ex-eMd sgaqic (USAID/India)
% dr9 AHSial S0 R EER $ Bl Hopd §
27?

(a) 2025

(b) 2028

(c) 2030

(d) 2040

Which of the following state government will set
up a pharma park in the state?/ fr=feRaa # & &
A 5T AR T H BT UTd I Afid Hef?

(a) Uttar Pradesh/STR g<=r

(b) Gujarat/TJoRrd

(c) Rajasthan/Rrsizema

(d) Maharashtra/qsRTsg

The Defence Research and Development
Organization (DRDO) has launched an indigenous
assault rifle” for the armed forces. What is the
effective range of this rifle?/ emm arg=iem= iR fawm
e (DRDO) =1 93RA dali @ foly Uah el
Irdfee NSHal afvd ®I & | 9 ISHd Bl YA ¥
w7 27

(a) 100 metres/100 Hrex

(b) 200 metres/200%ex

(c) 300 metres/300 #Hiex

(d) 500 metres/500 Hrex

Which country has launched the Green Fuels
Alliance India (GFAI) initiative to boost
collaborative efforts between the two countries in
the sustainable energy solutions sector?/ f&rg <=1 =
fehre; Sl HEm &= § qF1 <9 & 4
AEANTHS YA BT gemdl o & oy Y9 R
A 3fsar (GFAI) Usd 3% &I 87

(a) Netherland/=ezels

(b) Denmark/S e

(c) Brazil/smsirar

(d) Finland/fcis

After Zanzibar, in which country will IIT Madras
open its new campus?/ STiSiaR & d7g, JATSITSl
A fHd <2 | JUAT AT URAR WlelTr?

(a) Malaysia/ #if¥ra

(b) Maldives/Hrersra

(c) Bhutan/ser=

(d) Sri Lanka/sfreiat

Sheetal Devi, the teenage armless archer who has
widely earned recognition for India through her
performance in para-archery, was conferred with
the Arjuna Award by President Droupadi Murmu.
She is from which state/UTs?/ fida <dl, fheirk
g1 ’fd dRe, e tRI—dRersn § 3+ ueei«
% A W YR & foly @ud ggad g1 @ g,

DI MUY SIUa] JY RT3 JREPR I FHTf
fopar a1 o1 | 98 fod g/ Bg IR uee W e?




90.

91.

92.

93.

(a) Jammu and Kashmir/s= 3iR &R

(b) Gujarat/TorRrd

(c) Himachal Pradesh/f2araret wreer

(d) Punjab/dsirg

In Swachh Survekshan Awards 2023, Indore and

Surat are the ‘cleanest cities’ in India. This is the
time that Indore has won the accolade of

the cleanest city in India./ T8 eI REHR 2023

#, ZER IR qRT RA & FIH W AW | AT
IR € O SR 7 WRT # I WS IR B

PREHR T B |

(a) 5th

(b) 6th

(c) 7th

(d) 8th

The Electoral College for President’s election

consist of: Rrgufd & goma & forg fFaras ded

e &

2. Elected members of both the houses of

parliament. /598 & T el & Maifd e |

3. Elected members of the legislative assemblies.

[fem= Fmell & fFaif Jew |

4. Elected members of all Union Territories. /3T

B AT Ueel & Haifad dewT |

(@1

(b)2&3

c©1&2

d1,2&3

Which of the following situation/s are correct with

regard to Proclamation of Financial Emergency

(Article 360). /fa<irg JATUTdDTS B SGETIN (T

360) @ ey H fAFfaRad # & @9 < Rafq w2

&

1. It can be extended to an indefinite period with an

approval of the parliament for every six months.

/39 W B8 HEH & oy wae @ /o 9 siffRad

Bl Th TSI ST FhaTl 2 |

2. A resolution approving the proclamation of

financial emergency is to be passed by either house

of parliament by simple majority. /fa<i=1 amaTceT

BN AN Bl HNI < dTell U a6 & bl

Al 9ed R AR 9g9d ¥ Uk fhar ST 2 |

3. The President may issue directions for reduction

of salaries and allowances of Supreme Court and

High Court Judges. /RTsgufa \aiea <Imamead iR

I ST & <AERN & dad iR Wl § Bkl

% e SR AR Fahd 2 |

(@) 1 only/@aet 1

(b) 2 & 3 only /&ad 2 3R 3

(c) 1 & 3 only /@ad 1 iR 3

(d)1,2&3/1, 23R 3

Which of the following statement is correct with

regard to Proclamation of Emergency? /3imarddret

DI IV & Heeg # fferRad § 9 &9 |1 deH

GEIE

(a) Resolution approving & disapproving the

proclamation of emergency is to be passed by

either house of parliament by a special majority.

[T BT B0 BT AR & 3R SRATBR B

94.

95.

96.

97.

BT UG GEE B B A WA gR1 AR 9gwa |
qiRd fhar ST 7 |

(b) Resolution approving & disapproving the
proclamation of emergency is to be passed by
either house of parliament by a simple majority.
[STTATARTE BT |0 BT HG & AR IRBR B
P UG TS B B 1 WG §RT AEIRYT AT 4
qiRd fhar ST 7 |

(c) Resolution disapproving the proclamation of
emergency is to be passed by either house of
parliament by a simple majority. /3fdTceTel o1
YU P SRANBR B dTelT YR A8 & foedl )
Ao R AR 9gdd ¥ 9IRT b ST & |

(d) None of these./ 7% &1 @®I3 &1 |

Which of the following statements are correct?/
frfalRad # 9 @19 A1 HUF 8 87

1. The chairman and members of state PSC are
appointed by the Governor, but can be removed
only by the President./ /1 dig=a=ft & 1eger @ik
Had U §RT 8 BT S ATl & |

2. The state Election Commissioner is appointed by
the Governor but can be removed only by the
President./ X5 g9 31g<h @I Mgfh IsguTel gIRT
P S & AfhT S0 had ICURT gRT & ST ST
AhT B |

(@) 1 only/@ae 1

(b) 2 only/@aa 2

(c) Both/emi

(d) None /®13 &

The Representatives of states & UT in the Rajya
Sabha are elected by: / I 91 # AT 3R

fopam Smar 2

1. The members of the State Legislative Assembly
only. /@ae 5T O 99T & S |

2. The elected members of the State Legislative
Assembly only. /&aer Irsg fau™ a9 @ fRaifaa
qa |

3. The system of proportional representation by
single transferrable vote. /Tbdl FshANT AT gRT
JruTfered fcfifSea &1 gormed |

4. The system of proportional representation by
List. /;gh g1 srrgurfere ufafwifee @1 gormed |
@1&3

(b)1&4

©)2&3

d)2&4

The office of the ‘Whip’ is mentioned in:/ f&u’ &
BRI BT Seoid &

(a) Constitution of India. /MRa &1 Hfdem |

(b) Rules of the house. /eR & .

(c) In a separate Parliamentary Statute. /U& 3fer T
HESRT B H |

(d) None /&1 =&

Which of the following motion/s if passed leads to
the defeat of the government: /fmferiRad # & &9
AT TR U M W WRGR $I 8RB &

1. Censure Motion. /&1 wReITa




98.

99.

100.

101.

2. Cut Motion. /&e HeH

(@) 1 only. /&ae 1

(b) 2 only. /@ad 2

(c) Both. /i

(d) None./ 18 =&

The decision whether a bill is money bill or not is
decided by the speaker, this decision cannot be
questioned by: /&1 faEre o= faegre & a1 &
gadT v e gRT fhar Sirdr ®, 39 vl w
T T8 IS AT AHT B

1. Any court of law. /@18 +ff =maTerd

2. Lok Sabha. /@@=

3. President of India. /RdT & <rsgufa.

(@) 1 &2 only. /@ad 1 iR 2

(b) 2 & 3 only. /&aa 2 3iR 3

(c) 2 only. /@aa 2.

(d) None of these. /sH & @I =& |

Which of the following is/are correct:/ fr=faRRaa #
I B A/ R BT

1. A Money bill can be introduced only in Lok
Sabha. /g7 fa89® SHael e § uer faear o
ADhT B |

2. A Money bill is also a Financial Bill. /e= fagras
e i faege 9 2

3. All Financial bills can be introduced only on the
recommendation of the President. / &4 fa<iar
fA8e dael IMEUfT Bl A IR & U b S
Ahd B |

(a) 1 only. /@de 1

(b) 1 & 2 only./ &aet 1 3iR 2

(©)1,2&/1, 2 3R

(d) None of these. /s & @IS =&

Which of the following situation will bring about
the collapse of the council of ministers of a state./
frfoaRaa & 9 a9 < Refa fash sa @t
ARURYE & 9aT BT HROT I |

1. Resignation by Chief Minister. /41 gRT
SRIGT

2. Death of Chief Minister. /g&a#=T &1 9

(a) 1 only /&aat 1

(b) 2 only /@ae 2

(c) Both /et

(d) None /®1§ =&t

Chief Justice of High court is appointed by: /3=
R & = AR &1 g fhds g1 &
IS

(a) The President after consultation with the CJI.
Rrgufey Aroeng & wREY & 959

(b) The President after consultation with the CJI &
Governor of state./ rgufer ClI 3R 50 & roaTe
A WA & 9S

(c)The Governor on the recommendation of
President who in turn consults the CJI./ Irsgafa @1
RIETRET IR IrRUTd, S 98al § CJl & IR &xal
g

(d) The President after consultation with the
Governor of the state & a collegium of two very
senior SC judges headed by CJI./ Irgufar I5a &

102.

103.

104.

105.

106.

AT SR CJl @1 regerar H & 9gd avs SC
ST & Y Pieforad F WRES & 91

Which of the following official/s is/are appointed
by the President by Warrant under his hand and
seal. / fr=faRad # 9w ifSarY &1 Igufa gy
30T EXIER 3R & & dgd dRc gRI g foa
ST B |

1. CAG.

2. Chairperson of National Commission of SCs. /
MR ST ST AN & 37ede

3. Attorney General of India. / Rd & AeTITIATS)
4.CVC

(@) 1,2&4only./®ad 1, 2 3R 4

(b) 2 & 3only. / ®aet 2 3R 3

()1 &3only./®ad 1 iR 3

(d)1,2&3./1, 23R 3

Which of the following articles are correctly
matched: / fr=feiRaa # & @9 |1 og |E gHferd
2

1. Election Commission — Article 338. / pquko
vk;ksx & vugPNsn 338-

2. Finance Commission — Article 280. / fa<r smarT
— AT 280.

3. National Commission for SCs — Article. 324 /
LT ST ST STANT — Igees | 324

4. CAG — Article 148. / 9gsil — aresa 148.

5. Attorney General of India — Article 76./ wRd &
HETATIATG] — AT 76.

(a) All except 1 & 5./1 3R 5 BT BISHT AT

(b) All except 1 & 3./ 1 3R 3 ®I BIEH FHI

(c) All except 2 & 5./2 3R 5 Bl BISHT T

(d) None of the above options are correct/ SuRIh
faeeal 4 & @IS 1 | e ©

Which of the following statement/s is/are correct:/
fafaled # 9 &9 a1 HoF w2/ &

1. Right to Vote is not a FR but a Constitutional
right. / arc &1 &R ®IE FR T8l afcd U
SFaeTe PR B |

2. Prisoners and under trials in India do not have
the Right to Vote. / TRa # &feal 3R faare=
Bfedt @Y are <7 BT ARHR TET 2 |

(@) 1 only / ®aat 1 (b) 2 only/ @aer 2

(c) Both / gt (d) None/ &1 =&t
Which of the following term/s was/were added by
the 42nd Amendment act in our Preamble:/
f=feRad 5 9 &9 A1/ weg 424 H9eH
SfAfTm gIRT TR IRATIAT H WSl AT o7/ ST TV
oy

1. Socialist/ \HTSTaT

2. Secular/ gfaRver

3. Republic/ rord=

(@) 1 & 2 only/ aa 1 31X 2

(b) 1 only / @aet 1

(c)2& 3only/®ad 2 3R 3

(d)1,2&3/1, 23R 3

Which of the following statement/s is/are correct:/
ffaRad § 9 P19 A1 B WL e

1. Indian Territory can be ceded to a foreign state
without amending the constitution as mentioned in




107.

108.

100.

110.

111.

article 368./ sz 368 # SfoeRad wfdem #
FerE fey 991 R a3 @ fasd fageh s @
AT ST AP 2 |

2. Resolution of boundary dispute between India
and another country does not require constitutional
amendment./ RT 3R TR I & dra A1 fag &
THEE & fory Faenfad FeNes & SMavaddr wal
2|

(@) Lonly / @aa 1 (b) 2 only / Faet 2

(c) Both/ &=t (d) None. / ®13 =T8T,
Which of the following statements is/are true: /
ffaRad & 9 P9 A1 $UF T e

1. High court can refuse to exercise its writ
jurisdiction. / Sza =maTery o Re e=fIarR @
TANT B A IHR R DT 2 |

2. Territorial jurisdiction of SC for the purpose of
issuing writs is wider than that of a High Court./ Re
SR B & Seed 9 SC &1 &y aaaeR S
AT B T | ATID © |

(a) 1 only/ @aet 1 (b) 2 only / @aat 2

(c) Both / g (d) None / &8 =&
Consider following statements/ f=feiRad weAl w
faar &

a. Chattisgarh was formed by the Uttar Pradesh
Reorganization Act. / B<IRITg &1 69 IR U<
geiee S| gIRT foar war o |

b. Himachal Pradesh was first UT to become a
State / f2Arae WSS T 99 ATl Ugall DHETRId
NI

c. Manipur was the first to become a UT choice /
AOTR JET B G a1 aTell Ugell 1T o

(a) Only a and b correct. / @ad a 3R b FET |
(b) Only b and ¢ correct. / ®aet b 3R ¢ F&T 2|
(c) Only a and c correct / ®ad a 3R ¢ &l &

(d) All correct. / &+ &&T |

Which of the given legislation gives constitutional
status to three-tier Panchayati Raj system — / f&am
T B A B SRR U IS Fael bl
HIgT® 91 <ar § —

(a) 73rd constitutional amendment, 1993 / 7341
e G, 1993

(b) 72nd constitutional amendment, 1992 / 72at
WauTe FeE, 1992

(c) 74th constitutional amendment, 1993 / 744t
AT FeeE, 1993

(d) 75th constitutional amendment, 1994/ 75at
AaduTe G, 1994

How does the Constitution of India describe India
as — / YRd &7 AfAe YRT BT IuiF 59 YHR Bl
2

(a) A Union of States / /i &7 a9

(b) A federation of States & Union Areas / Irt
(c) Bharatvarsh / wRaay

(d) A federated nation/ T\l e

Which of the following factors impact Rupee-
Dollar exchange rate?/ fFr=ifeiRaa % & &9 @1
HREG SUI—SieR I &% T ywifad wxar 272

112.

1134

114.

115.

1. Inflation/mgwTg

2. Political instability on economy/sreieraRen
RUSRIGERIR RG]

3. Current Acrrount Deficit/ =re] -rar =rer

4. External debt/ sTa1 For

Select the correct code:/ GEl @IS F:

(@) 1 and 2 only/ @aet 1 iR 2

(b) 2, 3and 4 only/ &aa 2, 3 3iR 4

(c) 1,3 and 4 only/ @aet 1, 3 3R 4

(d)1,2,3and 4/1, 2, 3 3R 4

The cash reserve ratio refers to/ e 3TRfErT 3raTd
Bl AeHq Har B

(a) The share of Net Demand and time liabilities
that banks have to hold as liquid assets/ g T
3R I SHSIRAT &7 f2wr S dai & avel Hufcr
@ ©Y H G BT ®

(b) The share of Net Demand and time liabilities
that banks have to hold as balances with the RBI/
Y€ i IR T <AIRAT H1 o 1 Sl o
RIS & U Y NI & HY H IGAT &Il &

(c) The share of Net demand and time liabilities
that banks have to hold as part of their cash
reserves/ g ART 3R THI SAGIRAT BT fFwAT SN
Bt BT U AFHE HSR & R & wU H @A B
2

(d) The ratio of cash holding to reserves of banks/
i & THal HSR BT U

Which one of following is not correct about the
Repo rate?/ Xar &% & Ix H f=feRad § 9 & 9
SEIEER

(@) It is the interest rate charged by the Central
Bank on overnight loan/ I8 &< d% gRT
RGBT FOT R ol S dTell &1l & @

(b) It is the interest rate paid by the commercial
banks on overnight borrowing/ I8 a1foiiae St
ERT AR SR W & S dTell &l &% 8

(c) It is the interest rate agreed upon in the loan
contract between a commercial bank and the
Central Bank/ 78 U@ qiftiad d@% iR @49 d6
@ dr9 F0T Ty H HEHd &l &% ©

(d) It is the cost of collateral security/ g HurlR{a®s
GReT B AT B

An individual investor who invests in the e-project
usually during an early stage is/v& =fthra s
Sl $—HIolae H AR UR YHARI =ROT H fer
PRAT §

(a) Corporate strategic investor/ daRe oIf®
IRERED

(b) Founder capital/ %weme guit

(c) Angle investor/ ®Ivr faeres

(d) Venture capital/ SeM gsil

Which one of the following statements about the
Finance Commission, Periodically established by
the Government of India, is NOT true?/ YRd TSR
ERT FHI—HAY IR RIUd {99 T & ar #
fr=fafad # 9 &9 91 Fu9 ¥ T8l 27

(a) 1t recommends distribution of taxes between the
Union and the states/ I8 |9 iR I=Af & &1 &)
% faaroer @ RwiRer a=ar ©




116.

117.

118.

(b) It recommends the principles governing the
grants — in— aid of revenues of states/ I8 =i &
RISE & FERIAT aga &l R &=+ arel Regral
P RIEIRY o ©

(c) It recommends measures to augment the
consolidated fund of a state/ag el I5g &1
THfhd A @1 o™ & Ul @ RIwIRe &var
(d) It recommends measures regarding the salary of
government employees/ I8 RGN HHATRAT &
Iqq & dde H Iural a1 RIHTRe FRT @

The ministry of heavy industries and public
enterprises consists of/ I ST AR AEAD
SeM HATR e §

(a) The Department of heavy industry and the
Department for promotion of industry and Internal
Trade/ ¥Ry ST faWTT @R ST 3R 3rfalR® &R
P gerar <7 & forg fawmT

(b) The Department of public Enterprises and the
Department for promotion of Industry and Internal
trade/ ATdSIT® SeM fIIRT 3R ST SR IalR®
MR BT §TdT &1 & forg fawmT

(c) The Department of scientific and Industrial
Research and the Department of Heavy industry/
Ienfe 3R MEnfie srgHa T 3R Wy e
T

(d) The Departmetn of Heavy industry and the
Department of public enterprises/<<t ST fawRT
IR AdSIs e faqRT

What is meant by monetary policy?/ #ife® =fifqr &
T A 87

(a) The process by which the parliament controls
the money supply/ @8 ufshar 59 gRT d9\g o
amyfct @1 FRIT wxell

(b) The process by which the central bank or
monetary authority of a country controls the supply
of money/ag uftrar RS gRT fHdl) < &1 i
d% a1 Hifad ISR g9 B MY DI R PR
2

(c) The process by which International Market
controls the money supply/ g ufsar fga g1
IR TR g7 3MYfct &1 fFRIfSa @var &

(d) None of the above/ SIRIG # & ®IE &1

What is the difference between real interest rate
and nominal rate?/ a<fd®d &1 &R IR AHAE &R
@ 419 R’ IFR 87

119.

120.

I. Real interest rates take into account inflation/
IRAAD TSl X GBIl Bl &= H &l §

I1. Nominal rates are those which apply only to
borrowers and not lendes/ AFHTE <X T € T dad
SURSAIS TR AL BRIl 8, SUR o arell U= el
(@) Only I/ &g« |

(b) Only 1/ et Il

(c) Both I and 11/ 1 3R 1l €F

(d) None of the above/ IIRrb # & ®Ig &l

An increase in Repo Rate can/ 4T Y& # 9gIa<r &l
GE

I. Increase the cost of borrowing and lending of the
banks/ d&T & YR & R < BT g 7 gfg

I1. Decrease the cost of lending to the banks/ &t
DI FT S DI ANTT BH BN

(@) Only I/ @ad |

(b) Only 11/ @@ 1

(c) Both land 1I/ 1 3R 1l g1

(d) None of the above/ SRk # ¥ IS &l
Which of the following statements is true of SLR?/
frfaRed # & @19 91 99 SLR & R # 97 77
(@) It is to be maintained by all financial
institutions/ 3 1 faxir ARl gRT 991G <@
ST ®

(b) It is to be maintained as liquid assets/ $& el
AYRT & ®U H g9Y @7 ST @

(c) These need to be kept in non- cash form/ 3=
IR—®He Y § @1 ST 12

(d) All of the above/ SWRIh
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ANSWER KEY
1. B | 31. D |61.| C |91 | C
2. D | 32. C |62.| D | 92. | D
e B | 33. A |63 | D [9. | D
4. A | 34 B |64 | B |94 | C
G A | 35 B |[65.] C | 9. | C
6. B | 36. C |66.| D | 9. | D
7. D | 37. D |67.]| A |97 | B
8. D | 38. B [68. C |98 | D
0. D | 39. A |69 D |9 | B
10. | A | 40. A [70.] C |100.| C
11. | C | 4L C |71.] C |101.| D
12. | B | 42 D |72.| A [102.| A
13. | A | 43 B [ 73.] A |103.| B
14. | C | 44. B |[74.| B |[104.| A
15. | D | 45. D |75.| B |105.| A
16. | A | 46. B |[76.] B [106.| D
17. | C | 41. C | 77.] A |107.| D
18. | A | 48 C |78.| B |108.| B
19. | B | 49 A [79.] A |109.| A
20. | C | 50. D [80.| D |110.] A
21. | A | 51. A |8 | A |111.| D
22. | B | 52. D |8 | D |[112.| B
23. | C | 53. D pa C [ C
24. | B | 54. B [84. | C |114.| C
25. | A | 55. A 8. A |115.| D
26. | A | 56. D |8.| D |116.| D
27. | A | 57. B [8. | B |117.| B
28. | B | 58. D |8.| D [118.| A
29. | A | 59. C [89.] A [119.] A
30. | A | 60. D [9. ] C |120.| B




